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                                              Вариант 3.
1.Определите видовременную форму и залог сказуемого данного предложения: 
Thus the quest for greater supplies of crude oil began.
а) the Present Simple Passive
б) the Past Simple Active
в) the Past Simple Active
г) the Future Simple Active
2. Найдите правильный перевод следующего английского предложения:
 Information obtained by drilling into the crust.
а) Информация о пробуренной скважине
б) Бурение пласта
в) Информация, полученная путем бурения пласта
г) Пробурить пласт, чтобы получить информацию
3. Вставьте вместо точек подходящее по смыслу слово: 
The only way to prove that … present below the surface is to drill a well.
а) layer
б) crust
в) basin
г)oil
4. Выберите правильный вариант перевода данного русского предложения: Мы согласились начать дополнительные поставки газа.
а) The quest for greater supplies of crude oil began.
б) We have also agreed to start additional gas deliveries.
в) Russia has also agreed to start additional gas deliveries.
г) The quest for greater supplies of natural gas began.
5. Задайте правильный вопрос к выделенному слову в предложении: This oil company was established in 1985.
а) What company was in 1985 established?
б) Was this company in 1985 established?
в) When was this oil company established?
г) Where was this oil company established?
6. Определите видовременную форму и залог сказуемого в данном предложении:
This is achieved by drilling structural wells and  wild cats.
а) the Past Perfect Passive
б) the Present Simple Passive
в) the Present Perfect Active
г) the Present Simple Active
7. Выберите правильный русский перевод данного выражения: solar panels
а) соляные панели
б) солнечные лучи
в) энергия солнца
г) солнечные панели
8. Вставьте вместо точек подходящее по смыслу слово: Solar energy comes from … 
а) the space
б) the wind
в) the sea
г) the sun	
9.Задайте вопрос к выделенному слову данного предложения: Lukoil owns seven oil-processing companies in Eastern Europe.
а) What company owns seven oil-processing companies in Eastern Europe?
б) Does Lukoil own seven oil-processing companies in Eastern Europe?
в) How many oil-processing companies in Eastern Europe does Lukoil own?
г) Lukoil owns seven oil-processing companies in Eastern Europe, doesn’t it?

10. Определите видовременную форму и залог сказуемого в данном предложении: Qatar oil production is on the 19thplace in the world.
а) the Past Simple Passive
б) the Present Simple Active
в) the Past Simple Active
г) the Present Simple Passive

